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Pensieve header: Finding the YB element for NOE-1.

SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects\\OneCo-1606"] ;
<< NOE-1.m

Solution to all-but-one equations, as found on 160807:

ECAllButOne = {f2[x_, y_ ] =y fa[x, y] + y* f26[x, v] -ge[x], £3[x_, z 1 » x* f1g[x, 2],

£4lx_, y.1» yfi3lx, yl -qg1lx], £s[x_, v_1 » v? f26[x, y], £a[x_, z_] =0,

fio[x , z ] »2xf18[x, 2], £f12[x , v 1 »2xfi1g[x, y] -2e* xf15[x, y] -ga[x],

fi2[x , 2z 100, f13[x , z ] » x£22[x, z] -g3[z], f1ua[x_, v ] » y f22[x, y] -g2[x],

fis[x , vy 1> _r (—xyf23[x, v]l+e xyfas[x, y] +xg2[x] -e* xga2[x] -

(—1+ey) x

e’ xgz[x] +e™ xg2[x] e’ yg2(y]l +e™ yg2[y] -y g3ly] +e* yg3[y] -y aaly] +
e ygulyl +8y°gs[y] -8e” y?gs[y] -16e” y° gs[y] +8 e y* gs[y] +16 ™Y y gs[y] -
8e?Vy?gs[yl +4ygilyl -4e”ygrlyl -4e’ ygrly]l +4e*  ygilyl),

fie[x_ , 2z 100, f17[x_, v 122y £f26[x, y], f18[x_, v ] =

- ((£190%, y1 +4gs[x] -8e*gs[x] +4e®*gs[x]) /(2 (-1+e¥))),

fio[x , v 1> = (—1+2ex—e2x+ey—2ex+y+e2x+y+
(—1+e") (—1+eY) X%y

2x%yfalx, y]-2e" xP yfalx, yl +xygu[x] -e*xyga[x] -e’ x yga[x] +
eV xyqgilx] +y*galy]l -2e* Y galy]l +e** y* ga[y] -4y gs[y] +8e” ¥’ gs[v] -
4e®*yPgs[yl +8e’ v gs[yl -4 e®Y yPgs[y]l -16e™7 y> gs[y] +8e®*¥ y3 gs[y] +

8e™?Y y gs[y] -4e®?7 P gs[yl e’ yhi[] +2e™ yhi[] - yh[]),
-xfa3[x, z] -4 z 4 e* z
foi[x , 2z ]1+»0, f2o[x , z ] 23[ ] grlz] + cull ],
(—1+ex) x

X+y

fou[x_, z_ 10, f25[x , 2 10, q1[y_]1»yg2[y] +hi[],

1
g2y ] = - e’ (-2+2e"-2y°gs[y] +8 ¥ gs[yl -16e’ ¥ gs[y] +

8e?Y y*gs[yl +8y° grlyl -8e” y? g7yl -yhi[]l -e’ yhi[]),
fi[x , 2z ] i (—((x (—2 (—1+ex)2f5[x, z] -2 xfy0[x, 2] +
- 2
(—1+ex) (g4[x] +4 (—1+e")2xg5[x])))/ (—1+ex)2) +g8[z])};
Solution to all equations, as found on 160809:

ECAll = ECA11ButOne |

- 2fleEl  go[x] + guo (2] 1 ,
{felx_, 21> , groly ]»> —————— (-1+e’-y? galyl +
X 2(—1+eY)2y

2e¥y?gulyl -4y gslyl +8e¥y  gs[yl -4e*Yy’ gs[y]l +2e¥ ygely]l -2e*Yygsly] -
voslyl +e¥ygelyl -2ygelyl +4e'ygslyl -2e*Yygolyl -e?yhi[])};
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€ Ulcj] f1[bj, bx] +€ U[ck] £2[bj, bx] +€ U[cj, c5] £3[bj, bx] + € U[cj, cx] £4[bj, bk] +
€ Ulck, cx] £5[bj, bk] + € U[uj, w3] £6[bj, bk] + € U[uj, wx] £7[bj, bk] +
€ Uluk, wi] fg[bj, bk] + € U[uk, wx] £9[bj, bx] +€ U[cj, uj, wy] £10[bj, bx] +
€ Ulcj, uy, wk] f11[bj, bx] +e U[cj, ux, w3] f12[bj, bx] +e U[cj, ux, wx] f13[bj, bx] +
€Ulck, uj, wj] £f1a[bj, bx] +€ U[ck, uj, wk] £15[bj, bx] +€ U[ck, uk, wij] £16[bj, bx] +
€U[ck, ux, wk] £f17[bj, bx] + € U[uy, uj, wy, wy] f1g[bj, bx] + € U[uj, uy, wj, wk] £10[by, bx] +
€ Uluj, uj, wk, wk] £20[bj, bx] + € U[uj, ux, w3, w3] £21[bj, bk] +
€ Uluj, uk, wj, wx] f22[bj, bx] + € U[uj, uk, wx, wk] £23[bj, bx] +
€ Uluk, ux, wj, wi] £24[bj, bx] + € U[uk, ux, wj, wx] £25[b;j, bk] +
€ U[uk, uk, Wk, wk] f26[bj, bx] /. {U- Times, j->1i, k- j}
ecy f1[bi, byl +ecy f5[bi, byl +ec? £3[bi, by] +eci ¢y £4[by, by] +
€c?fs[by, byl +eusw;s fo[bs, byl +€u; wy f7[bs, by] +euyw; fgbs, bs] +
€uywy fo[bi, by] +eciu;wy fi9[by, byl +€cyuywy £11[bs, by] +eci uywy £15[by, byl +
€ciuywy fi13[by, by] +ecyu; wy f14[bs, by] +€cyus wy £15[by, bs] +
€cyuyw; f14[bi, byl +€c5uywy £17[bsi, byl +eu? w} f15[bs, by] +eu?w; wy f19[by, by] +
e u?w? fy0[bs, by] +€u; uy wf fp1[by, by +€u; uywy wy £, by, by] +

€ u; Uj W% f23 [bi, b]] +€U§ W% f24 [bi, b]] +€U§ Wi Wj f25 [bi, b]] +€U§ W% f26 [bi, bj}

ePi -1

Rp[i , 71 :=]E[bicj+ u_in]

i
(L+ecifi[bi, bj] +ecj £2[bi, bj] +ec? £3[bi, b;] +e cicj fa[bs, bj] +
ec% fs5[bi, bj] +euiw; £f6[bi, bj] +euiw; £7[bi, b;] +eu;wi £8[bi, b;] +
eu;w; fo[bi, bj] +e ciuiwi f10[bi, bj] +€ ciuiw; £f11[bi, bj] +eciujw;i £f12[bi, b;] +
eciu;jw; f13[bi, bj] +e cjuiwi £f14[bi, b;j] + e cju; w; f15[bi, bj] +
ec;ju;w; f16[bi, b;j] +e cju;w; £17[bi, b;] + e u? w? £13[b:, b;] + e u?w; w; £19[b;, b;] +
e u?w? f20[bi, bj] +euiujw? £21[b:, b;] + € u; u; wi wj £22[bi, bj] +

€u;uj W§ £23[bi, bj] +eu§ w? £24 [bi, b;] +eu§ wi w; £f25[bi, bj] +eu§ w§ f26[bi, bj])
Short[tl = Rp[1, 2] Rp[3, 4] Rp[5, 6] // m[3, 5, x] //m[1, 6, y] // m[2, 4, z]]

E[Zli;;] <b>2< b? + «<397>> +€ <<5>>>

b3 b?

t2 =Rp[1l, 2] Rp[3, 4] Rp[5, 6] // m[1, 3, x] // m[2, 5,y] // m[4, 6, z]

1 2b b2 by cy+ +
2oen; & ' E [ by by ]

(2 e2Pv b2 b3 + +2 e?Pr € b3 b ug w3 f6 [by, b.])
large output show less show more show all set size limit...

Short[t3 = (tl = t2)[1]]

1
@ 2Py (4 «<6>> Wy +4 <<6> W, + <<949>> + <<1>>)
2 bz b?
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Short[Errors = CoefficientRules[Expand[t3], {cx, cy, Cz, ux, Uy, Uz, Wx, Wy, Wz}] /.
{(_»c) »c}y /. {bx>x%x, by>y, bz z}]

2e€ f3[x, z] 2e*e fi[x, z]
+ +€ fio[x, z] —e*e f10[x, 2],

{_

«<56>>, € fg[x, z] -e*e f3[x, z}}

X X

EC= {}; EO = Errors; gn=hn=0;

EC = ECA11ButOne;
{gn = Cases[EC, g, [_] »» n, @] // Max, hn = Cases[EC, h, [] » n, »] // Max}

{8, 1}

EC = ECAll; {gn =Cases[EC, g, [_] » n, ] // Max, hn = Cases[EC, h, [] » n, ] // Max}

{10, 1}

AddRule[ff , rule ] := (
Print["As ", e0, ", adding ", rule];
done = False; EC = EC| {rule}
MFigﬁ_, v_] :=Module[{t = ¢, t1}, If[Simplify[t] ===0, 1,
While[(tl = Simplify[t /. v-»0]) ===0, t=D[t, v]]; tl
117
done = False; While [! done, done = True;
EO = DeleteCases[Simplify[EO //. EC], 0] // SortBy[LeafCount];
Print["Length[EO]==", Length[EO],
"; Length[EC]==", Length[EC], "; {gn,hn}==", {gn, hn}];
For[k =1, k < Length@EO, ++k,
el = Factor[eO = EO[k]];

If[Head[el] =!= Times, e2 =el,
EO[k] = e2 = Select[el, !FreeQ[#, £ [_, _ 1|9 [_1|h_[]1]&]1]-
If[e2 ==1, Print["Panic at ", e0, "! No solutions."]; Break[]]:;

If[! FreeQ[e2, £ [_, _11 A (FreeQ[eZ, x] V FreeQ[e2, y] V FreeQ[e2, z]) ,
{ff} =Cases[e2, £ [_, _1, {0, ®}, 1];
{{so0l}} = Solve[e2 == 0, ff];

rule= ((ff /. {x»> x , y»>y ,z->2z_}) » (ff/. sol)) /. Rule -» RuleDelayed;
AddRule[ff, rule]; Break|[]

:][f[! FreeQ[e2, g [_]11 A (FreeQ[eZ, y | 2] V FreeQ[e2, x| z] \/ FreeQ[e2, z | y]) ,
{gg} = Cases[e2, g_[_], », 1];
{{so0l}} = Solve[e2 == 0, gg]’;
rule=((gg/. {x>»> x , y»>y ,zZ->2_}) » (gg/. sol)) /. Rule -» RuleDelayed;
AddRule[gg, rule]; Break][]

]:

If [Head[e2] === Plus,
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s = List@@Collect[e2, £ [_, _], Factor]; sl = Select[s, FreeQ[f [_, _111;
sxy = Cases[s, a_. *f [x, y]];
sxz = Cases[s, a_. *xf [x, z]]; syz=Cases[s, a_.*xf [y, z]];
Which|
sxy == {} Asxz =1= {} Asyz =!= {}, (Print["here"] ;
{f£f} = Cases|[sxz, a . * £ [x, z] » £x[x, 2], {1}, 1];
mf = MF[Firstesxz /. £ [x, z] - 1, x]; mf x= MF[Firstesyz /. £ [y, z] » 1, yl;
sl = Plus ee@ Simplify[sl /mf] ;
sxz = Plus@@ Simplify[sxz /mf]; syz = Plus@@ Simplify[syz /mf];
Print[{mf, sl, sxz, syz}];
If [FreeQ[sxz, y] A FreeQ[syz, x] A
FreeQ[sl, x | y] A Simplify[(sxz /. x> y) +syz = 0],
{{so0l}} = Solve[sxz == g.+gn[2], £ff];
rule= ((ff /. {x»> x , y»yv ,z->2z}) » (ff /. sol)) /. Rule -» RuleDelayed;
AddRule[ff, rule]; Break][]
1
),
syz = {} Asxy =!= {} Asxz =1={}, (
{f£f} = Cases|[sxy, a . *fir [x, y] » £x[x, y], {1}, 11;
mf = MF[Firstesxy /. £ [x,y] » 1, y]; mf x=MF[Firstesxz /. £ [x, z] » 1, z];
sl = Plusee Simplify[sl /mf] ;
sxy = Plus@@ Simplify[sxy /mf]; sxz = Plus@@Simplify[sxz /mf];
If [FreeQ[sxy, z] A\ FreeQ[sxz, y] A FreeQ[sl, y | z] A
Simplify[(sxz /. z->y) +sxy = 0],
{{so0l}} = Solve[sxy == Q++gn[x], ££f];
rule= ((ff /. {x»> x , y»yv ,z->2z}) » (ff/. sol)) /. Rule -» RuleDelayed;
AddRule[ff, rule]; Break][]
1
),
sxy =!= {} Asxz =!= {} Asyz =!= {}, (
kk = Union@Cases[e2, a . xfx [x, y] » k, »];
If[Length[kk] =1,
{kk} = kk;
{{sol}} = Solve[e2 == 0, fxk[x, y]1-
sol = fiyx[x, y] /. sol;
e3 =D[sol, z] // Factor;
If([FreeQ[e3, £ [_, _11,
If[Head[e3] === Times,
e3 = Select[e3, ! FreeQ[#, £ “V[_, _1|g. [_]1|b_[1]&]]:
s = Collect[e3, f_(o’l) [_, _1., Factor] ;
sl = Select[s, FreeQ[f_“”l) [, 1] ]] ;
pPxz = Coefficient[s, i O [, z]] ;

PYZ = Coefficient[s, £ O [y, z]] ;
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mf = MF[pxz, x]; mf = MF[pyz, y]’
{sl, pxz, pyz} = Simplify[{sl, Pxz, pyz}/mf];
If[FreeQ[pxz, y] A FreeQ[pyz, x] A
FreeQ[sl, x| y] ASimplify[(pyz /. y - X) +pxz = 0],
rule = (fxx[%x_, z_ ] » G++gn[2] / PXZ + G+4gn[%X]) /. Rule - RuleDelayed;
AddRule|[fxk [x, z], rule]; Break[]
1

]
)
]If[FreeQ[ez, £ [_,_11\!FreeQle2,g [_11,
s = List@e@Collect[e2, g [_], Factor]; sl = Select[s, FreeQ[g [_111;
sx = Cases[s, a_. g [x]]; sy=Cases[s, a_.*g [y]]; sz =Cases[s, a_.*xg [z]];
Which|
FreeQ[e2, x] Asy=!= {} Asz=!={}, (
{gg} = Cases[sy, a_. »gx [y] = gxly]l, {1}, 1];
mf = MF[Firstesy /. g [yl » 1, y]; mf »=MF[First@sz /. g [z] » 1, z];
sl = Pluse@e Simplify[sl /mf] ;
sy = Plus@@Simplify[sy/mf]; sz = Plus@@Simplify[sz /mf];
If[FreeQ[sx, y] A FreeQ[sz, y] AFreeQ[sl, y| z] A
Simplify[(sz /. z-»y) +sy = 0],
{{sol}} = Solve[sy == h..na[], ggl;
rule= ((gg/. {x»> x , y>yv ,z->2z_}) » (gg/. sol)) /. Rule » RuleDelayed;

AddRule[gg, rule]; Break[]

1
l‘reeQ[e2, z] Asy=!={} Asx=!={}, (
{gg} = Cases[sy, a_. »gx [y] = gxly]l, {1}, 1];
mf = MF[Firstesy /. g [yl » 1, y]; mf »=MF[First@sx /. g [x] » 1, x];
sl = Plusee Simplify[sl /mf] ;
sy = Plus@@Simplify[sy/mf]; sx = Plus@@Simplify[sx/mf];
If [FreeQ[sz, y] A FreeQ[sx, y] A FreeQ[sl, y | x] A
Simplify[(sx/. x->y) +sy = 0],
{{sol}} = Solve[sy == h..na[], ggl;
rule=((gg/. {x»> x , y>yv ,z->2z_}) -» (gg/. sol)) /. Rule » RuleDelayed;

AddRule[gg, rule]; Break[]
1

)
]
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];

EO = Union[DeleteCases[Simplify[EO //. EC], 0]] // SortBy[LeafCount];

Length[E0]==0; Length[EC]==24; {gn,hn}=={10, 1}

EC
_Xf,7l+};XZ +99[x] +g10[2]
{felx_, 21~ ,
X
—1 2 2 3
gioly_1 = (-1+ev-y?gulyl +2e’y?guly]l -4 y>gsly] +

2 (-1l+e¥)2y
8evyigs[yl -4e?Yyigs[yl+2e¥ygelyl -2e2Yyqgely]l -vgsly] +
e ygslyl -2ygslyl +4e’ygslyl -2€?Yygslyl e’ yhi[]), f1[x_, z_] »

1
S (-((x (-2 (-1+e*)? fg[x, z] —2xfao(x, z] + (-1+e*) (ga[x] +4 (-1+e*)?xqgs(x])))/

(-1+e¥)2) +gslz]),

folx_, vy ] »yfolx, y] +v? f26(x, v] -g6[x], f3[x_, z_] » x? f15[x, 2],

falx_, y_] =y fislx, vl -g1[x],

fsx_, vy ] = y? fas[%, v],

fg[x_, z_] =» 0,

fiolx_, z_] »2x f1g[x, 2],

fialx_, vyl »2xfi1g(x, y] -2e*xf1g[x, y] -ga[x],

fio[x_, z_] =0,

fislx_, z_] »xfo[x, 2] -g3[z],

fralx_, y_] »y oz, vl -92[x],

fis(x_, y_] = - (-xyfaslx, yl +e¥xyfas[x, y] +xg2[x] —e*xgy[x] -e¥xgy[x] +

(-l+eY) x
e Y xgy[x] ~e¥y gyl +eVygo[y]l -~ygsly]l +e*ygsly]l ~ygaly] +e*ygaly] +
8y?gs[y] -8e*y?gs[y] -l6e’y?gs[y] +8e?Yy?gs[y] +16e*Vy?gs[y] -
8ex?Vy?gs[yl +4ygylyl -4e*ygylyl -4e’ygylyl +4e*Vyqgyly]l),
fi6[x_, 2_]1 >0, f17[x_, y_] » 2y foe[x, v], f1g[x_, y_] =

- ((fiolx, y] +4gs[x] -8e*gs[x] +4e?*gs[x]) /(2 (-1+e¥))]),
1
fio[x_, y_] = (—l+2ex—e2x+ey—2ex*y+e2x*y+
(-1+eX) (-1+eY) x?y

2x2yfalx, vyl -2e¥x?yfa[x, y] +xygs[x] —e*xygy[x] -e¥xyqg,[x]+
e Y xygs[x] +y?gsly]l -2e*y?galy]l +e?*y?gs[y] -4y>gs[y] +8e*y’gs[y] -
de’*ylgslyl +8evylgslyl -4e?Yylgsly] -l6e*Vylgs[y] +8e?*Vy’gs[y] +
8ex?Vydgs[y] -4e?*?Vydgs[y] ~evyh[]+2e*Yyhi[] -e?*Yyhi[]),

-x fp3[x, z] -4 g7[z] +4e*gy[z]

for[x_, z2_] =0, foo[x_, z_] = ’
(-1+e*) x

foulx_, z_]1 >0,
fos[x_, z_] =0,

g1ly_] »yagely] +hi[],

g2ly_] = eV (-2+2eY-2y’g;ly]l +8y3gsly] -16e¥y’gs[y] +

2 y2
8e’¥y’gs[yl +8y’gslyl -8e¥y?gy[yl -yhi[]-e’yhi[])}
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EO
{3

A specific solution of the last remaining equation:
1

—} // Simplify
2xy (eY—l)

EO[1] /. {f7[__] -0, g[_1-0, h []-»0, f6[x ,y ] =

EO[1]
(-1+e%) (-1+e¥)’

eq0 = Collect| £6[__], FullSimplify]|

2 (-1+eY) xyfe[x, vyl -2 (-1+e¥) xyfe[x, 2] +2 (-1+eY) y?fgly, z] +
1
(-1+e*) (-1+eY)
(-1+e*) (1-ev+y (2 (-1+eY) yfyly, z] + (y-2eYy) ga[y] +gsly] +
e’ (8y? (-1+Cosh[y]) gs[y]l +2 (-1+e¥) gely]l -gsly]l +hi[]))))

(2 (-l+e)2xyfy[x, yv] -2 (-1+e¥)2xyf,[x, z] +

1
eql = . D[eq0, x] // Simplify
- y
Leen)? 2 ( l+e ) y
(-1+e*)? folx, y] - (-1+e*)? f[x, z] - £7[x, y] +e* f7[x, y] ~e*x £7[x, y] +

frlx, z] ~e*f7[x, z] +e*xf7[x, z] +x f41:0) [x, y] —2e*x £f51:0) [x, y] +
e2xx fol0) [k, v] —xfa10) [x, z] +2eXx f4(10) [k, z] —e?2¥x £,(1/0) [x, 2] -

xf; (10 [x, y] +e*x £,1:0) [x, y] +x £,(1:0) [x, z] —e*x £,(1:0) [x, z]
(eql /. £_[%, y] | £ M9 0x, y]1 50)+ (eql /. £_[x, 2] | £ 39, 2] »0) = eql //
Simplify
True
FreeQ[(eql /. £ [x,y] |f_(L°)[x, y] » 0), y]
True
FreeQ[(eql /. £ [x, z] |f_(L°)[x, z] » 0), z]
True
Collect[(-eql /. £_[x, y] | £ 49 [x, y] »0), fe[x, z] | £6"'¥ [x, 2], Simplify]
(-1l+eX)2 fg[x, z] + (-1-e* (-1+x)) f7[x, z] +

(-l+e¥)2xfL0) [x, z] + (-1+e*) x£,(1:0 [x, z]

DSolve[D[a[x] (—1+ex)2x, x] == (—1+e")2a[x], a[x], x]
C[1]
}

(-1+ex)?

{{a[x] -
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1
eq2 = Collect[——— (-eql /. £_[x, y] | £ 39[x, y] »0),
(-1+cze")2
fe[x, z] | £619 [x, z], Simplify]
1
folx, z] +x 10 [x, z] + 7((—1—@{ (-1+x)) f7[%, z] + (-1 +e%) x £,
(-1 +ex)2
1 1,0
Collect|————— (-eql /. £_[x, y] | £.49[x, y1 > 0),
(—1+<l-3")2

£1[x, z] | £2%9 [x, 2], Simplify]

l+e* (-1+x)) £7[x, z x £7(1,0) [x, z
f6[X, Z]* ( ( )) 7[ ’ ] +Xf6(1'0) [X, Z]Jr 7 [ ’ ]
(-1 +ex)2 -1 +ex

x f7[x, z] . .
D[x fe[x, 2] + ——mM ™, x] -eq2 // Simplify

-1l+e*

0

. . . x f7[x, z]
Slmpllfy[fe[x, z] /. Flrst@Solve[x fe[x, 2] + ——

-l+e
‘ijhxexz +g9[x] +910[2]
X
—%+99[X] +g10[z]
eq3 = Simplify[er /. fe[x_, z_ ]
x
1
——— (1-ev-(-1+2e¥) y?gylyl +4 (-1+e¥)2y3gs[y] -
-1 +eY

2eYygelyl +2e’Yygelyl +vgsly]l ~e'ygslyl +2vgsly]l ~4e¥ygely] +
2e?Yygely]l +2ygiolyl ~4€ ygiolyl +2€®Yygioly] +e’ yhi[])

First@Solve[eqg3 == 0, gio[y]]
1

{g10ly] - m
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(1.0 [x, z])

= go[x] +g10[2], fe[x, z]]]

(-1+e-y?gulyl +2e’y?guly]l -4y3gs[y] +8eV y3gsly]l -4e?Yy>gs[y] +2e¥ygely] -
2e?Vygelyl ~vgslyl +e'ygslyl ~2ygelyl +4e'ygelyl -~2e€?¥ygely] —€’yhy[])}

Simplify[eq0 /. z - y]

1
2 (-1+e¥) y2 foly, yl+ ——(1-ev+y (2 (-1+e¥) yfyly, vl + (y-2e’y) galy] +

-1 +eY
gsly] +e¥ (8y? (-1+Coshly]) gsly]l +2 (-1+e¥) gsly] -gsly] +hi[])))

Simplify[eq0 /. x - y]
1
——— (1-ev+2 (-1+eV)?2y? fely, y] +2 (-1+e¥) y? f5[y, y] +

-1 +eY
v2aalyl —2e'y?gs[y]l -8e¥y3gs[y] +8eYy?Cosh[y] gs[y] -

2e'ygelyl +2e?¥ygelyl +vgslyl —e¥ygsly] +e¥ yhi[])
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Simplify[eq0 /. z - x]
~2 (-1+eY) xyfe[x, x] +2 (-1+e¥) xyfe[x, y] +2 (-1 +eY) y? fgly, x] +
1
(-1+e*) (-1+eY)
(-1+e¥) (1-ev+y (2 (-1+e¥) yfrly, x]+ (v-2e’y) galy] +gsly] +
e’ (8y? (-1+Cosh[y]) gs[y] +2 (-1+e¥) ge[y] -gsly] +hi[]))))

(-2 (-1+eV)2xyfolx, x]+2 (-1+e¥)2xyf[x, y]+

- 2hlEl , go[x] +gi0[2] 1
Simplify[EO /. fe[x_ , z_] - /. gy ]» ——
x 2 (-1+e¥)?y

(-1+e¥-y?galyl +2e’ y? gulyl -4y  gslyl +8e? y> gs[y] -4 e*Yy’ gs[y] +2e¥ ygs[y] -
2e’Yygelyl -ygslyl +e'ygslyl -2ygolyl +4e¥ygolyl -2e?Yygoly] -e’ yhi[])]
{0}
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